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Transformations: Write the transformations of the parent function y = — to the new function. Then
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3) Whatis a point of discontinuity? What occur at points of discontinuity?

Look 1 notes G ' nat Ledling Yuu
What types of graphs are continuous? What types of graphs are discontinuous?
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Identify the holes and vertical asymptotes of each.
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Simplify each and state the excluded values.
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13) A field has a length of

X —

i

in simplified form?

VA

14) Suppose that y varies inversely with x.
x =30 when y=2. Find y when x = 5.
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15) Write your own set of 4 ordered pairs in

which y varies directly with x.
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17) Write an equation for the translation of
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Simplify each expression.
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Solve each equation. Remember to‘éﬁ?ié\li"fﬁf' iextraneous solutions.
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